- 1200\pf1122\D. RWBC Drawings\TX-592\TX-502 dwg, TX-592

R:\A - Projects\Project Folders\Proj 1101

Trimity Glass

I NTERNATIONAL
4621 192nd STREET EAST TACOMA, WA 98446

60X 6'8
GLAZED PREMIUM FIBERGLASS

DOUBLE DOOR INSWING / OUTSWING

"NON-IMPACT"

EVALUATED FOR USE IN THE STATE OF TEXAS

The Trinity Glazed Premium Fibergloss Double Door described herein complies with the 2006
International Residential Code (IRC), Sections R301 & Ré13 and the 2006 International Building Code
{IBC), Sections 1405.12, 1609, 1714.5, 2403 and 2404 (including Texas revisions) subject to the following
conditions:

I.

2.

3.

4.

Anchors shall be as listed and spaced os shown in the details. Anchor embedment to base
material shall be beyond wall dressing or stucco.

When used in areas requiring wind-borne debris protection this product is required fo be
protected with an impact resistant covering that complies with Section R301.2.1.2 of the IRC
and Secfion 1609.1.2 of the IBC.

Allowable design pressure requirements must be equal o or less than the design pressure rating
shown in the design pressure charl, sheet 1 of this drawing.

Conditions not covered by this drawing are subject to further engineering analysis.

SUPPORTING DOCUMENTS & EVIDENCE

1.

Testing per ASTM E330-02 as performed by Testing Evaluation Laboratories Inc. and reported in
test report numbers TEL 08-01370020, TEL 046-0223-3 and TEL 05-0411-4, signed by Wendell W,
Haney, P.E.

Calculations {Anchoring and Glass load resistance report ASTM E1300-04) prepared by Lyndon
F. Schmidt, P.E.

Ceriificate of Parlicipation issued by the National Accreditation and Management Institute,
Inc., certifying that Trinity Glass Int'l is manufacturing products within a Quality Assurance
program.

TABLE OF CONTENTS

SHEET # | DESCRIPTION

Typical elevations, design pressures & general noles

Door panel construction detolls & glazing details

Horizontal cross secfions

Vertical cross seclions

Frame anchoring

Components

Endura ostrogal details

TRC astragal delails

PVC astragal details

Columbia astragal details

— || ~0| oo~ o~ ln| b |La | RS

Bill of materials

74.00" MAX, O.A. FRAME WIDTH

81.88" MAX. FRAME HEIGHT

@]

4 e e |

Sy gd 87
$°2 b
& Dgo &
BOEd) by
Pods! %E
E @ gu
§
4]
2
3| &
= Eg
i 35
3 [y58
= Eﬁg
LB |4 =e
- %%2
{
<&l
HI-IJ
§|§
3|13
5
g[S Z
E‘IE o
G 7]
g4
5|8
AR
-2
pate: 8/26/05
scale:  N.T.S.

OWG. BT EwW

e Fm;z__ GLASS DESIGN PRESSURE PSF)
TYPE SWING DIMENSION TYPE | POSMIVE | NEGATIVE
INSWING 74.00" x §1.88" +45.0 -50.0
ENDURA G1
OUTSWING 74.00" x 80.75" +45.0 -45.0
INSWI HG ?4.mhl X 31 .aaﬂ +ﬁ5.n - 5‘5 -u
TRC G1
OUTSWING 74.00" x 80.75" +65.0 -65.0
INSWING | 74 00" x 81.88" +43.0 | -47.0
PVC Gl
OUTSWING 74.00" x 80.75" +43.0 -43.0
COLUMBIA OUTSWING 74.00" x 80.75" Gl +50.0 -50.0

CHIL B LFS

DRAWING NO.:
TX-592

SHEET _1 oF 11

{2009 AW, BuiLDiNG COMNSULTANTS IMC.



ul
a3
—— PVC STILE CAP EXTERIOR LOCK BLOCK @ PVC STILE CAP ——— 7/; gé 2 Eg
g g " zf
w2 ged gi
. Hib IR
[ §o2 2
Rnpndae® : 8 Re go
g 25% s
INTERIOR : 35 ﬂ:
P @ai
(1" HORIZONTAL CROSS SECTION : = i
&, " S
 p [ ;
| - 1.56" — : ‘ | ”
= = =
| PANEL WIDTH . | = S
21.00° : /// Z 1_,|_|i e %E
MAX.D.LO. | i = % | 7 | =010 gg o ug
| a : S | Lo ;3 g gz
< . BOTTOM RAIL @ s g &%
| = @ HINGE STILE . LATCH STILE : E% . t%
i sl £ |2 S5
| ‘ < : @ 5" GLASS BYTE —— = - ;EE|
= | —— 1"0.A. THK GLASS I !
% 3 % @ I‘ / 1/8" TEMPERED % %
o o GLASS =
S E \ I § § Y ARSPACE §§
3 : X |lo S | g HllE
3 \ L o
913 ¥ N \ [ e T 1/8"TEMPERED @ ol 2
S SEE R GLASS 5 5 |
DETAIL 1 SIS
g
; l @ i
o B
| g| S8
C) GLAZING DETAIL \ "ﬁkﬁi‘_‘
i 1 S [riEr—] Nof
E | |7 PVC ki g
( 2 ) S ’/// COMPOSITE oatE: 8,/26,/05
R é BAL ScALE: N.T.S.
- DWG. BY: EW
{ - ok B:  LFS
PREMIUM LIPLITE FIBERGLASS DOOR DETAIL 1 72\ VERTICAL CROSS SECTION DRAWING WO
@ﬁ ( :: ) LOP RAL W, TX-592
seer 2 o 11

R:\A - Projects\Project Folders'\Proj 1101 - 12004pf11224D. RWBC DfawirlgﬁT}l'.vSB?_\,TJ{-SﬂZ.dwE, 2

£ 2009 R.W, BUILDING CONBULTANTS IND.



5
b 63 ) i
.
2V 3V 4
4 4 4
DRYWALL I'l, /
K &
I|
w i
INTERIOR

{17\ HORIZONTAL CROSS SECTION

3 / Outswing shown
Inswing also approved

LOCK & DEADBOLT RATINGS CHART |3 p
| €2 o E§
MAX. DESIGN PRESSURE | Ex a2 us
: = (PSF) ; @ i E ﬂ. gT
MANUFACTURER MODEL TEM # c& = p G
POSMVE | NEGATIVE Eé 653 3=
KWikser | YOS 740 2 | 50 | -e50 g sgﬁ 8
DEADBOLT: 780 22 ' : ggﬁ 5
LOCK: COMBO 660 | 21 _ & o xd TE
KWIKSET | peapsour: comeosso | 22 | 630 | 650 L
LOCK:  MAX. SECURITY | 21 | T
SCHLAGE | e aDBOLT: MAX. SECURITY | 22 | T60.0 | -60.0 : m& gé
I
&
w w0
3| 8
= @
il 0
3 |58
== g 2
Z= |4 &
= 1E2 1o 8
's_Te o (o &
5l < |52
o [
@) =R e
/5 \ HORIZONTAL CROSS SECTION 4 HORIZONTAL CROSS SECTION el
\_3_/ Columbia astragal \_3 /PVC astraga g S
==
58] |o
®) INTERIOR e §
AT o
9 I o8l E]
v a |t
N N "‘ﬁ i
S RN ] e e o = 38
/7 TR e NN
| : NANNNNNN my i RISE
® " exmnor. ©® 2
T
@ EXTERIOR owE: 8,/26/05
SCALE: N.T.S.

7“2 "\ HORIZONTAL CROSS SECTION

\Ej Endura asiragal

m HORIZONTAL CROSS SECTION

\3_/ TRC astragal

DWG. BY: EW

CHK. BY: LFS

DRAWING NO.:
TX-592

sweer 3 or 11

R:\A - Projects\Project Felders\Proj 1101 - 12004pf1122\D. RWBC Drawings\TX-5924TX-502.dwg, 3

'f.h' 2009 R.W. BUILDING COMNBULTAMTS IMD.



SN, ofég
Foni2il le
> TR b M o B
Lt g fu gf o7
EXT, SHEATHING %ﬂ‘ﬁ—" EE “'? éa §§§ 3%
\- EXTERIOR W\ INTERIOR Ui 2 LR |3 B8 EE
- R R 2. %
Ithﬁ‘i\'\fn“:\' \J 3 8 a . EE
pxz &
| e
: = o
I
= = E
3| ¢
—~ 2
&\\\\ £ 3
EXTERIOR INTERIOR B |
{1\ VERTICAL CROSS SECTION ("2 VERTICAL CROSS SECTION x5 gl °
W%%ng @cégr& ved \_4_/ Outswing configuration . ES g 3
68 |85 &
gl * B
o o
& 2zl
EXTERIOR —’V INTERIOR gg
EXTERIOR W\ INTERIOR 2 é
e (=]
i g-J i
4 l‘ £ %
| H e =]
OO L 00D gg
{Q~i;\:?;x_ N ) RRlE
: \\ \\\\\\ (P) CONCRETE NS
: , = :
\\\\\\\ \ : ~[-[S
oatE: 8,/26/05
SCALE:  N.T.5.

("3 ™\ VERTICAL CROSS SECTION ("4 VERTICAL CROSS SECTION e BN
\i/ Oulswing configuration v Inswing configuration CHK. BY: LFS
DRAWING MO.:

TX—-582

sweer 4 o 11
—_—

R:\A - Projects\Project Folders\Proj 1101 - 12004pf112240. RWBC Drawings\TX-592\TK-592.dwg, 4

{'}znug R.W. BUILDING CONSULTANTS INE.



R:VA - Projects\Project Folders\Proj 1101 - 12000pf1122\0. RWBC Drawingﬁ‘l.TK-E-'B'E\TK-EEIE.dHE. 5

2X FRAMING TO BE DESIGNED
BY THE ENGINEER OR ARCHITECT ——
OF RECORD BASED ON WIND LOADS
AND THE CLADDING BEING USED. ﬂ
SEE HINGE — ¢ et 67 (TP
DETAILT | ]l el
15“
}_Ar : -
o\ TR |
[= »] 0 —
EE: R _‘
"A-'P:I
OF
_ // JAMBS
g 2X FRAMING - I gl i
gy I
| i
s |
‘ — [ | ]
| !
: I | ASTRAGAL 4 R
y | SHOWN FOR 508 b
ooor - |1l _ | LOCATION REF. _ <3 —
SEE P o |
HINGE |p//
DETAL2 \
\ —  (Hwoop l |
|
(P)concrere
FLOOR SUBSTRATE MATERIAL / B
CONCRETE (MIN. 3000 PS) - ,' l
WOOD (5.G. >=0.42) =5 =
! [T 0 ||
N
HINGE JAMB FRAME ANCHORING ASTRAGAL STRIKE
T i Stud construction
@c:rurswmc. p
' ™
= 3
;; GD (:)mmm3 B 0
N A (8= H sk
|II III Rt 3 :‘ - .:__ T
. [} . ® s ’ R , 1T
o — — = =
[ |' I tl - L = v @ %
|

@/ VIEW A-A

Astragal stike @ head

VIEW B-8
Asfragal strike @ sil

HINGE DETAIL 1

ARDOAN Yy, )
SSoriED gy X
— tf.} rH Q. i &{?\; 'EE B
SR il
ARl S BN T
Lirs Pt i
i~ D0 o
2o My Wn
O iwiew g
L IRT iz il2 o
f‘, Y .G ' “::La
Gan, iai AE
(!2_‘\':?‘-1._‘.52 n*".ﬁﬁ
£y, ¥, g 1= I =T
?i iy b ol
1]']1. oy '\T.cb
_'IJ:‘-‘:\_‘L\ \\]

STRIKE PLATE DETAIL
Asiragal

HINGE DETAIL 2

TEXAS P.E. §104123
INC

0. Box 230 Valrdce FL. 33585
hona Neo.: 813.659.9197

UILDING CONSULTANTS,

TEXAS BOARD OF PROFESSIONAL EMGINEERS

CERTIFICATE OF REGISTRATION # F—11882

RW;

Documents Prepored By: Lyndon F. Schmidt, P.E

PREMION LPLITE FERGLASS
FRAME ANCHORING

PRODUCT:

REVISIONS

=

7/23/09 |TDI PRODUCT EVALUATION UPDATE | AL | PART OR ASSEMBLY:

1 | 6/28/06 |REVISED LOCKSET NOMENCLATURE | EW

|

2|

oare: 8/26/05

scE:  N.T.S.

WG, BY: EW

CHK. Ef: LFS

DRAWING WO.:

TX-592

sHEET _5_ ofF 11

) Z00%9 R.'W. BuiLDiNGg CONBULTARMNTS MO,



Ol BANYATNENDD NN "M'H 5002 o

Z68LL=4 # NOLWVMISIOSN 40 AIWOIHILNID SNOISIALY

SUIINIDND IWNOISSIA0Nd 40 QuVOE SvXal SININOAWOD
LBLE'6SE'TLE ON a:o:g@. A TBNISSY d0 1Hvd

A8 31va_JON
M3 | FUNIYIINIWON 13SHI0T 035n3d| 90/82/9 | |
¥ | V00N NOUYNTYAI 10N004d 101) 60,5842 | €

= _
3
SESET TId oDUIBA DEZ XOg "O'd s

"ON| SINVLIINSNOD ONITTIN
SSV194381d UL WNININA
cZL¥oLf Td svKAL TANI SS¥I19 ALINIML

2'd WPyIE 4 uopudy 1ig pesoduig suewnoog =12NA0xMd

“

HEE

TX-592

e 8/26/05
SCALE: NLT.S.

TRl 3]
SRR .
:ﬂﬂuﬁ&ﬁ.ﬂ..::...wh.m.% ;uu Lk “l.. a |.r|_
£ g3siEEy

(s

= ,...m.w..“,@
F3 snvor 0
,1-.!.:_.-.... sEsEsEmEinasianinn
g

" Bnor

. F
PETT T

LOIWHOS 3 NOANL1 :

@ SILLKEY DETAILS
Optional

4.54"

i
|
2
/ M & .-_ =
: m | -
(> -
o =
L /1 O
- L e
.
- L0 - m m
A i fo) 0O m | M..m
& (@) (@) w g m S
| & — § : !
O =Tl | () ;

Ao

9 ‘B 765-X1\C65- X L\SOUMEI] DBME "GNZZ T IA00ZT - 1011 (0id\siopio] Poloid\smaloid - v\



‘ORI SANYLINENOD ONIGTINE MH 600 (3

Iomih 4 Nouwisem o Ao T B — V0 o
VaISY Al n| | i
e — SR VBNONI 13 | SunIvioNanon 355007 G35iAgd] 90/82/3 | | l4[EIC| o |
GESEE M4 OOMIOA DCZ X0B 'O &\5%_ AIBNISSV 8O 1vd | v [3Ivadn NolvivA3 19dodd Ial| so/se/z |z |<S|'5 ™ (7|, B | ®
AN SINYLINSHNOD SNIaTin g N _ __...r_
SSV1943814. U1 WAININd of |glgle =
CZI+#0Lf 'Td SvxaL TANI SS¥TD ALNIML P
A'd PSS T4 wopudl g peundaiy sjueWINDOg SL2NA0Md & m W _m
B
Z=1 susor X
% LGINHOS 3 NOGNAY
ﬂ«.-.ﬁ..._ﬁur FELan hm*
U* % N
O Vs
g3 RS : 3
3 < B
f5): " P
H P o4 3 mH
= MH - & -
WOLIOg K ! al
5 _ 71 sIE: |;
Hm 050 —— = 050 — -
NS | e I
i ‘E_‘ i |
(-2 T
2
=]
_ 5
L = -y
i | o
9 ' :
o g
Zz =
) q
= !
3] T O || i 71- 89 - 4 3
[ HL
E- £
i | i m
| i 3
1B S .m
() |ﬁ.
B ) <|&
3 m 2
N g, 45
e 5) 33 38
! - 5] @ - mm
1 m >
° |2 E
5 =5
o =
] fo ﬂ =8 E
; = ! HES 2
-
5 5 3
_ o =
=0
iy
o)
I
=
27
=
e . [
o i1
m 3]
- :.Nﬂ..ﬂ — .
N -|..._|T
_
0 3
) L 5
e | bW % o
: 2
;
o
o ||
we L |
%t RN I 1
* tn !
38 =
o = V-
dol

£ BMP Z65-KL\Z65-X L\SBUMeIq 28MY "O\ZZ11A\00Z1 - 1011 [oid\siepiod Palosdisialold - v\



"OM| SLNTLINENOD SHIQUNE "M Y &00E 3

TR I o Reee -~ 5 s TIva Tox
——l 5 . ”
R S S0 e . M3 [SHNIVIONINON L55%007 a3sia| 90/6z/9 | | |9|u|F|L| o _
GBSEE ™4 OSMIDA OCZ X08 .o.m\summ. XIGNISSY HO IHVd ["v [31v0dn NOUVWAI 1ondodd 1ALl 60/cz/2 | 2 | @5 |5
NI CSINVLINSHOD SRIaTIN e g | E_
mﬁq%ﬁmm i WNINTHd ol 1&|& &
cZivoLf T'd SVl ANE SSYID ALINIML @
"3'd WPIWYOS '3 UOpUAT g pesndesy sjuewnoog ‘1oN00Ed 3 m £
0/- )

N3, W HOIge I,
b.&ﬂ.ﬂmwmzmam..www b
Z W
A T

FEERFRSSRERESE R SRR R R R “-

INHOS 3 NOONAT Z

L.__.W....-.__ e L
15N s
MG d 0 T BEE

o
Ul

——

By Trinity

WwoLog

! 100" ——
@ TRC ASTRAGAL CHANNEL

M
=I5
(®)

3.00"

! i 1 1
RSN |
2 ]
m_..-.-“
| 2 i
: . B8 .
8 E
2 |° ) . e
—_ [:n]
8 iy 55
O =
= 5
B E
= =]
= =
i g
_ <
o L —— - ..ﬂ” L ]
— B
=
o 3
- ql
9 !’ =z
-
| 2 =
4 L |
= G 3
3 ] 5
_ =)
i o
O
i £
=
(i
=
=
. - i u
2 =
o o
_ o mm
=
. 2
i I = ——
I i e~ Al
R N N —
(%]
a -
iy
IR I
;&
171 |
| A i
_
.rw .x_|.r.u_ III___ln ._m“_.
= 9-9 o ——— PO

B ‘DMPZ65-XL\T6G-X1\sbumes] Jamy “a\ez1149\00z1 - 1011 [oud\ssapiod 1pafoidisiaalond - Wi



OM] SLMYLINENDD SMaTng s e &00F _fw

ZSELI—4 # NOLVHLSIOZW 40 AUVDIHUHID
SMIINIONT TYNOISSEH0Md 40 Ouv0E SviEL

LGLE'GSE'ELE FON euoyd
S8GEL T4 o3HDA DEZ =98 "O'd
"Nl "SINYLINSNOD DNITINE

CTIFOLF ‘3'd SWiEL

My

Td IPYDS 4 uopudl  lg pespdesd sjueINIog

SNOSIAIY
BE 3IV3_JON|w| _ -
AU IS S 43 | 38nLvIONGNON 135001 03siA3y E@ LQ|4|E |8 o ._.r._
ATBNISSV 8O 18vd | v [3Uvadn NOUYNTVAI 1ondosd 101l 60/cz/z | 2 |15 ||~ g%|®
o i
SSVI9u3gLY._ILTd WOINTHd o |&|&]g 4
TINI SSY19 ALINRL i m . m
:LINA0Hd AEIHE m

20.25"

20.25"

32.25"

4362

o
=
O
- =
=
O
"
|
e
=
<
.
b
3
[T}
g
M.W
._nnn
- Gm
o
2
8| 5
] 2
4Nk
w0
iy
9]
b
-
o=
A
=
5
Q
o
a
<L
LI
0O

S8 Il_ —ll

1.094" —I—-—-Jr
I

@ FLUSHBOLT
MATL: 8.75" DIE CAST ZINC

7.844
53
-
o™

@ FLUSHEOLT BAR
MATL: DIE CAST ZINC

il 881’

W9

s)

b

o

VIEW C-C
PVC ASTRAGAL ASSEMBLY

o

_|.| SLIEE |.|_ |

T )

1. 438

@ PVC ASTRAGAL
BY Trinity

6 ‘B Z265-X L\Z65-XL\SOUMEIC DAME VL TTIOV0DZT - 1011 C0d\aiopod Paloidiapoond - v\:d



"OM| BELNYALATINENDD OMIOTINE "M'EH G002 _..r..m

wmmw.ﬂ_ __Wﬂm mzuuﬂwmwﬁwm_nuﬁ 40 AUYIHUEID a6 SNOISIAZY SIva TON
o Ddd A0 QuWv0OE Svxal dd_uu{_m:
R —— Swaa SV YIaNN109 M3 | 34NLVIONINON 13S#007 03sIA3d[90/82/9 ] 1 | xm.,_ vi| & m o H_
SBSET 4 O3WIPA OSZ %98 "O'd \\S.@. -ATENISSY M0 ldvd | v | 3ivadn NOUVNTYAI 1oNaoYd IaL| 60/€2/4 | 2 S M &%
AWl SINYLINSHNOD SNaTIng Wm.ﬁu&.mm ﬁ‘_i_. -..:Ew—& W_ W w m m_ o
CZIYOLF "F'd SWAEL 1IN mmﬁm ALINIEL i m ; m m
‘I'd IPIUYDS 4 UOPUAT M@ peundesd EUBWINZOQ -LINgoud AEILIE:
wouos
\'_M ¥ +-..-.. h in -
._.m_m ...—.__.h..... ﬂ o nu*..pu.ﬂ.__ p H
g 11
H.S...._...._..r.._?.r_.r.,r.r_.f # * _._ @IS —= =
dl—= "4 F ¥ i |
- h_ * L]
i [=]
B -
|| — . 2
S8
| @
T k
o
% 3
]
U I A —— A
2]
8]
T
| |
B -4
£ 5 =
5 - &
== | ;
w - L _m..mm
| EE R g
Lk ; A
: i J.:m_ g S0 —=f = @
o |l | (&)
o T G | i m £
| 8
: =z
\\ - £
T 1E) S
= 7l 2
D g
T
. g ® 3
| E ® 7T
3 | 3
et _F als
(] a &
< = £
fa 2
> E
s, ___ =
e i | )
| @
. _ W -
=
-1 S
- m-..l_u - =
| ﬂ =
" =
b 52
{5 % 3=
I 1] T ¢ .
=Ry . ®
i :
2 ® A
= B —_— £
dOL a-a

01 “Bapz66-} L\z6S-3L\sBumeig Jamy "a\ez 100zt - 1011 [oud\siapjog paloid\spalog - vy



b
[+
CONMNCRETE ANCHOR NOTES: ;‘g "
1. Substitution of equal concrete anchors from a different supplier may have different 33 8 Eg
edge distance and center distance requirements. du g 2 g 5
2. Concrete anchor locations at the corners may be adjusted to maintain the min. it Sk :
edge distance to mortar joints. If concrete anchor locations noted as "MAX. ON 53 %‘—’ 3 o gz
CENTER" must be adjusted to maintain the min, edge distance to mortar joints, EF B g% og
additional concrete anchors may be required to ensure the "MAX. ON CENTER" g e 2 EE
dimensions are not exceeded. 5 8 2% ge
3. Concrete anchor table: 7 o ﬁ:@ E:
ANCHOR | ANCHOR MIN. MIN. CLEARANCE TO | MIN. CLEARANCE TO : 3§ W
TYPE SIZE | EMBEDMENT | MASONRY EDGE | ADJACENT ANCHOR & mg 25
B
mw 3/18" 1-3/4" 2.5/8" E @ %E
ELCO 3ne" 1-3/4" 1 E
g
~It5 v
B | 2
BILL OF MATERIALS e b
ITEM| DESCRIPTION MATERIAL |ITEM| DESCRIPTION MATERIAL QE 5 =
A | 2X HEADER FRAMING SG >= (.42 WOOD 31 | LVL LOCK BLOCK POPLAR E% % s
B | 2X FRAMING SG >=0.42 WOQOD 32 | HINGE STILE - $G >=0.42 LVL/PVC == }§ -
G | MAX. 1/4" SHIM SPACE WOQD 33 | TOP RAIL - POFLAR LVL & WPC COMBINATION POFPLAR/WFC g E% ol @
| | 3/16" X 2-1/4" ITW PFH CONCRETE SCREW WOQOD 34 | BOTTOM RAIL - POPLAR LVL & WPC COMBINATION POPLAR/WPC § = =
J | #10X 3" PFH WS STEEL 39 | FIBERGLASS SKIN 0.079" MIN. THICKNESS [Fy = 5,203 PSI MIN. ) FIBERGLASS & E
K | #9 X 2Z'PFH WS STEEL 40 | #8 X 1-1/8" SELF THREADING SCREW STEEL
L | #B X 2-1/2" PFH W3 STEEL 42 | ALUMINUM & BUTYL SPACER SYSTEM ALUM./BUTYL =l Eil
P |3/16" X 2-3/4" ELCO OR ITW PFH CONCRETE SCREW STEEL 44 | HOT MELT SEALANT / SILICONE - [t
Q | 3/16" X 3-1/4" TW CONCRETE SCREW STEEL 45 | LITE FRAME PC/ASA é =
3 | HINGE JAMB - FINGER-JOINT PINE - G >= (.42 WOQOD 44 | FOAM CORE POLYURETHANE S|3
4 | HEAD - FINGER-JOINT PINE - 5G >= (.42 WOQOD 50 | FLUSHBOLT BAR STEEL s g
5 | INSWING THRESHOLD ALUMINUM W/ COMPQOSITE SUBSTRATE ALUMINUM 51 | 4-3/4" LENGTH TOP BOLT RETAINER HDPE 'g § 9
4 | DOOR BOTTOM SWEEP PVC 52 | 9-3/4" LENGTH TOP BOLT RETAINER ALUMINUM g 5 %
7 | DOOR PANEL - SEE DOOR PANEL DETAIL SHEET FOR CONSTRUCTION DETAILS - 53 | #8 X 1-3/4" PFH SMS STEEL @ E"
B | #6 X 1-1/4" PFH DRYWALL SCREW STEEL 54 | ASTRAGAL STRIKE @ HEAD STEEL g § v
12 | WEATHER STRIP QEBD&50 Q-LON - 55 | ASTRAGAL BY ENDURA PRODUCTS ALUMINUM Sla
18 | 3.983" X 4.0" HINGE MIN 0.098" THICK STEEL 56 | ASTRAGAL STRIKE @ SILL STEEL o 1}
19 | SILLKEY PC/ASA 57 | SLIDE BOLT ROD STEEL g é
21 | LOCK (SEE LOCK & DEADBOLT RATINGS CHART) STEEL 58 | TRC ASTRAGAL BY TRINITY ALUMINUM Qe
22 | DEADBOLT [SEE LOCK & DEADBOLT RATINGS CHART) STEEL 57 | TRC ASTRAGAL CHANNEL BY TRINITY ALUMINUM h'}“f
23 | STRIKE PLATE STEEL 67 | PVC ASTRAGAL BY TRINITY PVC AN
23A | DEADBOLT PLATE STEEL 68 | FLUSHBOLT DIE CAST ZINC 1o
24 | #9 X 5/8" PFH SCREW STEEL 69 | FLUSHBOLT BAR DIE CAST ZINC i I =
25 | OUTSWING HIGH-DAM THRESHOLD ALUMINUM W/ COMPOSITE SUBSTRATE ALUM./ COMP. | 80 | EXTRUDED ALUMINUM ASTRAGAL BY COLUMBIA ALUM. PROD. ALUMINUM oaTE:_B/26,/05
26 | #9 X 1" PFH SCREW STEEL 81 | #8X 2-1/2' PFH WS STEEL see  N.T.S.
27 | OUTSWING THRESHOLD ALUMINUM W/ COMPOSITE SUBSTRATE ALUM.f COMP. | 82 | TOP FLUSHBOLT RETAINER 6063-T5 ALUM. /STEEL Dwa. B EW
30 | LATCH STILE - SG >= 0.42 LVL/PVC 83 | BOTTOM FLUSHBOLT RETAINER 6063-T5 ALUM. /STEEL cHk. BY:  LFS
84 | 5/16'@ X 20" LONG FLUSHBOLT ROD STEEL ““*'““;‘_;“*592
sueer 11 oF 11

R:\A - Projects\Project Folders\Proj 1101 - 1200\pf1122\D. RWBC Drawings\TX-592\TX-592.dwg, 11

2009 R.W. BUILDING DONSULTANTS IMC.



